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vH;kl gsrq lasiy iz’u i= 

 

Ekk/;fed f’k{kk e.My] e-iz- Hkksiky 
       gk;j lsd.Mjh ijh{kk 2022&2023 

         Higher Secondary Examination 2022-2023 
 

   jlk;u foKku 

   CHEMISTRY                 
 

                                             (Hindi & English Versions) 

lEk;&3 ?k.Vs          iw.kkZad&70 
Time: 3 Hours               M.M.70 
 

funsZ’k% 

(i) lHkh iz’u gy djuk vfuok;Z gSaaA 

(ii) iz’u Øekad 01 ls 04 rd izR;sd lkr&lkr oLrqfu"B iz’u gSaA dqy vad 28 gSA 

(iii) iz’u Øekad 05 ls 12 izR;sd 2 vad ds gS vkSj mRrj 'kCn lhek 40 'kCn gSA  

(iv) iz’u Øekad 13 ls 16 izR;sd 3 vad ds gS vkSj mRrj 'kCn lhek 75 'kCn gSA  

(v) iz’u Øekad 17 dsoy 4 vad dk gS vkSj mRrj 'kCn lhek 120 'kCn gSA  

(vi) iz’u Øekad 18 o 19] 5 vad ds gS vkSj mRrj 'kCn lhek 150 'kCn gSA  

(vii) iz’u Øekad 2 ls 19 izR;sd esa vkarfjd fodYi mifLFkr gSA  

 

Instructions% 

(i) Attempt All Questions are compulsory. 

(ii) Question no. 1 to 4 are objective type have 7 marks each total 28 
number are allotted.  

(iii) Question no. 5 to 12 each carries 2 marks and word limits is 40 
words. 

(iv) Question no. 13 to 16 each carries 3 marks and answer word limit is 
75 words.  

(v) Question no. 17 only 1 one question carry 4 marks word limit is 120 
words.  

(vi) Question no. 18 and 19 each carries 5 mark and answer word limit is 
150 words. 

 

 

 

fo"k; dksM& 
Subject Code- 
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1- lgh fodYi pqudj fyf[k;s %       1x7=7 vad 

(i) 'kq) ty dh eksyyrk gSA 
(a) 53.3    (b) 54.4  
(c) 55.5    (d) 56.6 
 

(ii) lSy fLFkjkad gS& 
(a) A/𝑙   (b) 𝑙/A 
(c) 𝑙. 𝐴   (d) e.𝑙/A 
 

(iii) dkSu lk laØe.k /kkrq vk;u jaxhu gS& 
(a) Cu+   (b) Sc+3 
(c) Ti+4    (d) V2+ 

 
(iv) ,sfjy gSykbM esa gSykstu ijek.kq ls tqMs+ dkcZu esa ladj.k gksrk gS& 

(a) sp     (b) sp2 
(c) sp3    (d) sp3d 

 
(v) ,ehu dh vkd̀fr gksrh gS& 

(a)  fijSfeMh   (b) prq"dQydh; 
(c) lery f=dks.kh;  (d) oxkZdkj leryh; 

 
(vi)  tarqvksa esa dkcksZgkbMªsV fdl :i esa lafpr gksrk gSA 

(a) Xywdksl   (b) Xykbdkstu 
(c) LVkpZ    (d) lwdksZt 

 
(vii) vfeuks vEy dh izd`fr gksrh gSA 

(a) vEyh;   (b) {kkjh; 
(c) mHk;/kehZ   (d) mnklhu 

Choose the correct alternative. 

(i) Molality of pure water is- 
(a) 53.3   (b) 53.4 
(c) 55.5   (d) 56.6 

(ii) Cell constant is- 
(a) A/𝑙   (b) 𝑙/A 
(c) 𝑙. 𝐴   (d) e.𝑙/A 

 
(iii) Which the following transition metal ion is coloured. 

(a) Cu+   (b) Sc+3 
(c) Ti+4   (d) V2+ 

 

(iv) Carbon atom connected to halogen in aryl halide having hybridization. 

(a) Sp    (b) Sp2 

(c) Sp3   (d) Sp3d 



 NH

 
(v) Shape or geometry of Amine is. 

(a) pyramidal 
(c) trigonal planer 

 

(vi) In animal carbohydrate is stored in form of
(a) Glucose  
(c) Starch           

 

(vii) Nature of amino acid is.
(a) Acidic  
(c) Amphoteric 
 

2- fjDr LFkkuksa dh iwfrZ dhft,

(i)    izfrjks/k dk O;qØe 

(ii)    vfHkfØ;k dh nj vfHkdkjd ds lkUnz.k ds 

(iii)      Zn dsoy--------------vkWDlhdj.k voLFkk n’kkZrk gSA

       (iv)     [𝐶𝑜𝐹଺]3- ,d -------------------

(v)   dk"B fLizV dk jklk;fud lw= 

 (vi) 
 

 

 

(vii)    

 

Fill in the blank 

(i) Reciprocal of resistance is …………………

(ii) Rate of reaction is……………………proportional to the concentration of 
reactant. 

 

(iii) Zn only shows……………………..oxidation state.

(iv) [𝐶𝑜𝐹଺]3-  is…………………..……..spin complex.

(v) The chemical formula of wood spirit is……………..
 

(vi)  
 

 

(vii) )   

 

 CH3 

 NH2 

 dk IUPAC

 CH3 

 IUPAC name of                    

  +  HI  

  +  HI   

NH2 

Shape or geometry of Amine is.  
  (b) tetrahedral  

trigonal planer   (d) square planer 

In animal carbohydrate is stored in form of- 
  (b) Glycogen 

  (d) Sucrose 

amino acid is. 
  (b) Basic 

  (d) Neutral 

fjDr LFkkuksa dh iwfrZ dhft,       

izfrjks/k dk O;qØe --------------------------gSA 

vfHkfØ;k dh nj vfHkdkjd ds lkUnz.k ds ---------------------------gksrk gSA                        

vkWDlhdj.k voLFkk n’kkZrk gSA 

-------------------pØ.k ladqy gSA 

dk"B fLizV dk jklk;fud lw= -----------------------gSA 

    

Reciprocal of resistance is ………………… 

is……………………proportional to the concentration of 

Zn only shows……………………..oxidation state. 

is…………………..……..spin complex. 

The chemical formula of wood spirit is…………….. 

  

  

IUPAC uke ---------------------------------------

                    is …………………..           

 
  Product 

     
  Product 

 1x7=7 vad 

gksrk gSA                        

is……………………proportional to the concentration of 
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3- ,d 'kCn@okD; esa mRrj fyf[k;s&       1x7=7 vad 

(i) ukWeZyrk Kkr djus dk lw= fyf[k;sA 

 (ii) vfgZfu;l lehdj.k fyf[k,A 

 (iii) Cu+2 dk bysDVªkWfud foU;kl fyf[k,A 

 (iv) E.D.T.A dh lajpuk cukbZ;sA    

(v) milgla;kstu la[;k N% okys ladqy ;kSfxdksa esa lkekU;r% fdl izdkj dk 
ladj.k ik;k tkrk gSA 

 (vi) csathu ls ,uhyhu izkIr djus dk jklk;fud lehdj.k fyf[k,A 

 (vii) D.N.A esa v.kq esa mifLFkr 'kdZjk dk uke fyf[k,A 
 

Answer in one word/sentence.      

(i) Write the formula of normality. 

 (ii) Write arhenius equation.  

 (iii) Write electronic configuration of Cu+2  

 (iv) Give the structure of E.D.T.A     

(v) Complex compound having six coordination number generally what type 
of hybridization they have.  

 (vi) Write chemical equation to convert benzene to aniline.  

 (vii) Name the sugar present in D.N.A molecule.  
 

4- lgh tksM+h cukb;s&         1x7=7 vad 

A     B 

(i) Ce    (a) jkstuseq.M 
(ii) K4[Fe(CN)6]  (b) Mkb,tksfu;e yo.k 

(iii) C2H5OH   (c) ,YMksgsDlksl 

(iv) RCHO   (d) fdVksgsDlksl 

(v) C6H5N2C1   (e) 'khjs 

(vi) Xywdkst   (f) +2  

(vii) ÝDVkst+   (g) +4 

(h) +3 
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Match the column: 

A      B 

(i) Ce    (a) Rosenmund 

(ii) K4[Fe(CN)6]  (b) Diazonium Salt 

(iii) C2H5OH   (c) Aldohexose 

(iv) RCHO   (d) Ketohexose 

(v) C6H5N2C1   (e) Mollases 
(vi) Glucose   (f) +2  

(vii) Fructose   (g) +4 

(h) +3 
 

5- ;fn 22 gm csathu 122 gm dkcZu VsVªk DyksjkbM esa ?kqyh gqbZ gS] csathu dk nzO;eku   
izfr’kr dh x.kuk dhft,A             2 vad 

If  22 gm of benzene is dissolved in 122 gm of carbontetrachloride, calculate 
mass percentage of benzene.      

vFkok@or 

v.kqla[;d xq.k dh ifjHkk"kk fyf[k,A 

Define colligative property.   
 

6- fdlh foy;u dh pkydrk ruqrk ds lkFk] D;ksa ?kVrh gS \      2 vad 

Why, the conductivity decrease with increase in dilution of a solution.  

vFkok@or 

fof’k"V pkydrk dks ifjHkkf"kr fdft, o bldh bdkbZ fyf[k,A 

Define specific conductivity and give its unit. 
 

7- nj fLFkjkad ds fuEu eku ls vfHkfØ;k dh dksfV dh igpku dhft,A     2 vad 

(a)  k= 2.3 x 10-5 L mol-1 sec-1 

(b)  k= 3 x 10-4 sec-1 

 

Identify the order of reaction with the given rate constant value. 

(a) k= 2.3 x 10-5 L mol-1 sec-1 

(b) k= 3 x 10-4 sec-1 

vFkok@or 
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       y 

 

fn;s x;s fLFkfrt mtkZ ,oa vfHkfØ;k funsZ’kkad ds e/; vkys[k esa fcanq x o y dh 
igpku dj uke fyf[k,A 

Given graph plot between kinetic energy and reaction co-efficient identify and  
name point x and y. 

 

   

  

         

                              ---------------------2HI 

        
 

 

8- fuEyfyf[kr milgla;kstu ;kSfxdksa ds I U P A C uke fyf[k,      2 vad 

(i)  K3 [ Cr(C2O4)3 ] 
 

(ii)  [ Pt (NH3)2 (H2O) Cl ] Cl2
 

  

Write the I U P A C name of the following coordination compounds.   
 

(i) K3 [ Cr (C2O4)3 ] 
 

(ii) [ Pt (NH3)2 (H2O) Cl ] Cl2 
 

 

vFkok@or 

fuEufyf[kr milgla;kstu ;kSfxdksa ds lw= fyf[k,A 

(i) iksVsf’k;eVªkbgkbMªkWDlhMksaftadsV (II)   

(ii) VªsVk,ehuk,DokDyksfjMksdksokYV (II) DyksjkbM  
 

9- ouZj ds milgla;kstdrk fl)kUr ds dksbZ nks izeq[k fcanq fyf[k;sA     2 vad 

Write any two main postutales of Werner theory of coordination  
compounds.       

vFkok@or 

layXuh fdls dgrs gSA  

 What are ligands.  

 

 

       X 

       
A 

       B 

H2+I2          H      

        fLFkfrt mtkZ 

      Kinetic Energy 

     vfHkfØ;k funsZ’kkad 

         Reaction coefficient 



 

10- jkstsueq.M vfHkfØ;k dk jklk;fud lehdj.k fyf[k,A

Write chemical equation of Rosennmund reaction.      

fuEu ;kSfxdksa ds I U P A C

Write the I U P A C name of following compound. 
 

  (i)   

   

(iii) CH3 CH(OCH
 

11- ,sfufyu ty esa vfoys; gS ysfdu      

Aniline is insoluble in water but soluble in HCl. Why ? 

   

,sfYdy gsykbM dk ,sfeuks vi?ku jklk;fud vfHkfØ;k fyf[k,A 

Write chemical equation of Ammon

  

12- isIVkbM cU/k fdls dgrs gS 

What are peptide bond. 

foVkfeu B1 o C dh deh ls gksus okys ,d&,d jksx dk uke fyf[k,A

Write the diseases caused due to defficiency of vitamin B

 
13- 293 K ij ty dk ok"inkc 17

450g ty esa ?kksydj 293 
 

At 293 K the vapour pressure of water is 17.535 mm Hg. If 
25 gm Glucose is dissolved in 450 gm of water calculate the 
vapour pressure of water at 293 K

vkn’kZ o vukn’kZ foy;u esa dksbZ rhu varj fyf[k,A

 Write any three difference between Ideal and Non

    

 

CHo 

  Br 

jklk;fud lehdj.k fyf[k,A    

Write chemical equation of Rosennmund reaction.     

     vFkok@or 

I U P A C uke fyf[k,A 

Write the I U P A C name of following compound.  

CH(OCH3) CHO  

fufyu ty esa vfoys; gS ysfdu HCl esa foys;’khy D;ksa \    

Aniline is insoluble in water but soluble in HCl. Why ?    

     vFkok@or 

,sfYdy gsykbM dk ,sfeuks vi?ku jklk;fud vfHkfØ;k fyf[k,A  

rite chemical equation of Ammonolysis of Alkyl halides.  

VkbM cU/k fdls dgrs gS \        

 

vFkok@or 

dh deh ls gksus okys ,d&,d jksx dk uke fyf[k,A 

Write the diseases caused due to defficiency of vitamin B1 o C. 

ij ty dk ok"inkc 17-535 mm Hg gSA 25g Xywdksl dks   
ty esa ?kksydj 293 K ij ty ds ok"inkc dh x.kuk dhft,A  

the vapour pressure of water is 17.535 mm Hg. If  
25 gm Glucose is dissolved in 450 gm of water calculate the  

pressure of water at 293 K.       
 

vFkok@or 

vkn’kZ o vukn’kZ foy;u esa dksbZ rhu varj fyf[k,A 

Write any three difference between Ideal and Non-Ideal solution.  

  

 

   2 vad 

  

     2 vad

   

     2 vad 

 

     3 vad 
      

 

Ideal solution.   
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     H  OH 

     H  OH 

14- ,d vfHkfØ;k A+B      mRikn ds fy, osx foe; r=k[A]1/2 [B]2 ls      3 vad 
fn;k x;k gSA vfHkfØ;k dh dksfV dh x.kuk dhft,A        

 Calculate the order of reaction of in a reaction A+B     product  
the Rate law is r=k[A]1/2 [B]2       

 

vFkok@or 

n’kkZb, fd izFke dksfV dh vfHkfØ;k esa 99% vfHkfØ;k iw.kZ gksus esa yxk le;  
90% vfHkfØ;k iw.kZ gksus esa yxus okys le; ls nqxquk gksrk gSA   

For a first order reaction, show that time required for 99% completion is               
twice the time required for completion of 90% of reaction. 
      

15- vki fdl vk/kkj ij dg ldrs gS fd LdSfUM;e (Z=21) ,d laØe.k rRo gS    
ijarq ftad (Z=30) ughaA           3 vad 

     
On what ground can you say that scandium (Z=21) is a transition element  
but zinc (Z=30) is not. 

vFkok@or 

yUFkSukbM ladqpu ifjHkkf"kr djsa o bldk dksbZ nks ifj.kke fyf[k,A 

 Define lanthanide contraction. Write its any two consequences. 

 

16- fuEu vfHkfØ;k dh fØ;kfof/k le>kb;sA          3 vad 
     

 

Explain the mechanism of the following reaction. 
 
 

 

 vFkok@or 

QhukWy ls fuEu ;kSfxd dSl izkIr djsaxsA ¼dsoy jklk;fud lehdj.k fyf[k,A½ 

(i) ihdfjd vEy ¼2]4]6 VkbukVªksfQukWy½  
(ii) vkFkksZ ,oa iSjk czkseks fQukWy 
(iii) lSfyflfyd vEy ¼2&gkbMªkDlh csUtksbd vEy½ 
 

How will you prepare following compound from phenol (write only chemical 
equation) 

(i) Picric Acid (2,4,6 Trinitrophenol) 
(ii) Ortho and Para Bromo Phenol 
(iii) Salicylic Acid (2- hydroxy benzoic Acid) 

 

 c - c        c = c           + H2O 

 c - c        c = c           + H2O 
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17- fuEu vfHkfØ;k dks jklk;fud lehdj.k lfgr fyf[k,      2+2 =4 vad 

(i) oV̀Z~t&fQfVax vfHkfØ;k 
(ii) ÝhMsy Øk¶V vfHkfØ;k  

Write the following name reaction with equation. 

(i) Wurtz-Fitting reaction. 
(ii) Freidal craft reaction. 

vFkok@or 

 SN
1 o SN

2  vfHkfØ;k esa dksbZ pkj varj fyf[k,A 

 Write any four differences between SN
1 and SN

2 reaction. 
 

18- ekud gkbMªkstu bysDVªksM dk o.kZu fuEu fcanqvksa ij dhft,A      1+2+2=5 vad 

(i) Ukkekafdr fp= 
(ii) dk;kZfof/k o midj.k dk o.kZu 
(iii) lSy vfHkfØ;k ¼,uksM ,oa dFksM ds :Ik esa½ 

Describe the standard Hydrogen Electrode on the following point. 

(i) Labelled diagram 
(ii) Working and description of appratus. 
(iii) Cell reaction (As Anode and as Cathode) 

 

vFkok@or 
 

QSjkM ds fo|qr vi?kVu ds izFke o f}rh; fu;e ds dFku o lw= fyf[k,A  

State and give formula of Faraday first and second law of electrolysis. 
 

19- fuEu vfHkfØ;kvksa lehdj.k lfgr fyf[k,A         1
ଵ

ଶ
 +2 + 1

ଵ

ଶ
 =5 vad 

(i) xkVjeSu dksp vfHkfØ;k 
(ii) ,YMksy la?kuu 
(iii) dSfutkjks vfHkfØ;k 

Write the following reaction with equation. 

(i) Gatterman Koch reaction. 
(ii) Aldol condensation. 
(iii) Cannizaro reaction. 

vFkok@or 



 fuEu vfHkfØ;kvksa ds mRiknksa cukdj iw.kZ dhft,A  

(i)  
 

 
 

(ii)  

 

(iii)  

 

(iv) CH3COONa          
 
 

 
(v) R-CH2-COO

 

 

Complete the given reaction by forming the product.

   

 (i) 

 

 

(ii) 

 

(iii) 

 

 

(iv) CH3COONa          

 

(v)   R-CH2-COOH 

 

   

o 

fuEu vfHkfØ;kvksa ds mRiknksa cukdj iw.kZ dhft,A        

  

COONa           

COOH  
    

Complete the given reaction by forming the product. 

    

COONa            

COOH  

+ HO - NH2    

    H+ o 

+ HO - NH2    

    H+ 

  -CHO + NaOH    
  conc.  

  H2O+ 

 

  -CHO + NaOH    
    lkUnz  

CONH4 

           

             

  H2O+ 

 

  NaOH & Cao  

  (i) X2/yky QkWLQksjl 

 (ii) H2O 

CONH4 

   (ii)  H2O 

(i) X2/Red Phosphorus 

o o 

  NaOH & Cao  

   1x5=5 vad 

  


